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ﬂ A plant was placed in water containing black dye. Afler 24 hours the plant was removed and
seclions were taken from the root and the stem.

Which diagram shows the results? @""" '?'{ @
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root stam
@ The diagram shows structures in a human which form and store urine. Liquids pass through

tubes X, % and £ in the directions shown by the armows,

_— kidnay

bladder —_

Which statement about the volume of fiquid passing through Y In one day I3 cormect?
It is greater than that passing through X,

A

B Itis less than that passing through Z.

G Itis much less than that passing through X but slightly greater than that passing throwgh Z.
D

It iz slightly less than that passing through X bul much greater than that passing through 2

3R


https://youtu.be/9ZINY0drsvs?t=23
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(3 The diagram represents the blood supply to the liver and 1o the kidneys.

|

Which vessels contain blood with the highest and lowest concentrations of urea?

highest lowest

4]  One gene has two codominant alleles, A" and A", and one recessive allele, AS.

How many different genotypes and phenotypes are possible?

genotypes | phenotypes
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5 Earobes can either be aftached o the cheek or be ‘free’ [unattached). This characleristic is
controlled by a single gena.

The allele for attached earlobes is recessive.
The diagram shows the inheritance of attached earlobes in one family.
1 2 3 4

OO e

. make with free sarobas

‘ 5 6 iJ__l——‘ 7 8 ‘ . female with free earlobes

D mala with attached saricbas
0 O O

() female with attached earlobes
Which two individuals must be heterozygous for earlobe attachment?

9

A land7 B 3and4 C 5and8 D Gand 9

@  Aman of genotype I"1° and woman of genatype IPI° have a child,
What is the chance thal the child will have the same blood group as one of its parents?
A zero B 1in4d C 1in2 D 3ind

7 Dianthus flowers can be one of three differant colours: red, pink or white.

A red flower is always homozygous and a white flower is always homozygous. Pink flowers are
helerozygous.

If a red and a white flower are crossed, whal percentage of the offspring will be pink?
A 0% B 25% G T5% D 100%
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The diagram shows a calendar for 33 days in February and March.

mensiruation
starts
I | I 1 I 1 1 i I
5 10 15 20 25 28 2 5 10
=i - il o
February March

A girl, who has a regular menstrual cycle of 28 days, begins menstruation on 5 February.

During which dates would the progesterone concentration in her blood rise most rapidiy?
A 5-12 February

B 13-19 February

C 20-26 February

D 27 February — 5 March

@ The diagram shows a synapse in a reflex arc.

>

What are the identities of the two neurones and in which direction does the neurotransmitber
pass?

neurone P neurone O d;?:;f;;;g:::ﬁg?
A motor relay . P-=0Q |
B maotor SENSOMY P00
c relay mictor Q=P
D relay SENSOry Q=P
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The diagram shows a kidney tubule and some of its associated blood vessels.

Which substance is entirely reabsorbed from the fluid at R to the blood at P?

A glucose
B salls
C urea
D water

ﬂﬂ 27 The diagram shows saedings in two expenments on the tropic response of seedings to gravity

and light.

light fram

I
3 days later
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19 Some roats are known to be gravitropic.

Which palr of diagrams show a controlled expenment lo find out if these rools are also
photofropic?

light proof light proof light
—I I—

&; = =

1 4

The diagram shows a shoot that has been placed on its side. The shoot begins to grow upwards. .

up

R |

What causes the shoot to grow upwards?
A increased cell division by meiosis at P
B increased cell division by mitosis at P
€ more cell elongation at P than Q
D more cell elongation at G than P
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ﬂé] The diagram shows an experiment to investigate the response of a plant stem to gravity.

: result after
C]}% two days in dark

in dark
What is a suitable control for this experiment?

A B
=0 =~
in dark

L
W g

15 The graph shows changes in the dry mass of a seed as it germinates and grows.
I

T
9

time/days
What causes the change shown between points S and T?
A osmosis
B photosynthesis
respiration
transpiration
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16 The diagram shows how a seed changes after it is planted in soil and watered.

17

18

o

¢ ¢

Which characteristics of living things are demonstrated by this sequence?

A excretion and growth

B growth and sensitivity

C nutrition and reproduction
D nutrition and sensitivity

The length of a specimen in a photograph is 45mm. Its actual length is 25mm.
What is the magnification of the photograph?

A =06 B =186 C =18 D =1125

The diagram shows a pollen grain of a nce plant. The size of the image is 40 mm

40 um
The actual length of the pollen grain is 40 pm.

By how many times has the diagram been magnified?

A =1 B =10 C =100 D =1000 :@:



19  The diagram shows a high-power drawing of a plant cell.
The distance between X and Y on the diagram below is 80mm.

The actual length of the cell between X and Y was 160 um.

What is the magnification of the cell?
A =50 B x100 C =500 D x1000

2@ The actual thickness of the leaf shown in the diagram is 2000 um, but its thickness in the diagram
i5 50 mm,

Whalt Is the magnification of the diagram?

A «0.025 B x25 C <100 D =100000
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929  The diagram shows some liver cells as they appear under a microscope.

How many cell walls can be seen?

A 0 B 2 C 5 D 10

22 The diagram shows an insect.

Use the key to identify the insect.

1 WIDEE BIEEBI buiereamaamrssssmbiinsr go to 2
WINGS ADBENL ..ocvmmmiinisvmssisnsssssssssissiines M

2 tWO pairs of WINGS ......ocovevsiimrnssssmmsinerennss goto3
one pair of Wings ... B

3  wings with circular markings ..........cceceeeee. €

wings without circular markings ................ D

10
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